Solution to CSE143X Section #10 Problems

Method Call

6, 13)
14, 10)
37, 10)
8, 2)

50, 7)

mysteryl
mysteryl
mysteryl
mysteryl
mysteryl

~ e~ o~~~

Method Call

Value Returned

mystery2 (1)
mystery2 (4)
mystery2 (16
mystery2 (30
mystery2 (10

Method Call

mystery3(6)
mystery3(17)
mystery3(259)
mystery3(977)
mystery3 (-479)

Method Call

mystery4
mystery4
mystery4
mystery4
mystery4

8
74)
-52)
3052)
82534)

o~~~ o~ —~

Method Call

mystery5 (5,
mystery5 (12
mystery5 (=7
mystery5 (-2
mystery5 (12

Method Call

mystery6 (4, 1)
mystery6 (4, 2)
mystery6 (8, 2)
mystery6 (4, 3)
mystery6 (3, 4)

Method Call

mystery7 (0)
mystery7 (1)
mystery7(2)
mystery7 (4)
mystery7 (5)

1
1, 2, 4

1, 2, 4, 8, 16
1, 3, 7, 15, 30
1, 3, 6, 12, 25

10
22

Value Returned

57
1029
-74
2438
132483

Output Produced



10

11.

Method Call
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